


. THE SUPERMESH

A super mesh is the case in which a current source belongs to two meshes
Each super mesh gives two equations
One equation from the relation of current source and mesh currents

The other equation from applying KVL at the two meshes together
and in the same equation




KVL at mesh 1 —3+4+4+2(i; —i)) —2=0

KVL at mesh 2 +24+2(i—i))+5H+1=0




Mesh 1 and 3 are super mesh

The super mesh gives two equations 2 ()
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KVL at mesh 2
1(ia — i) +2i2+3(ia—i3) =0

—i1 +6i> — 3i3 =0

Solving above equationswe get [, =9 A, i, = 2.5 A, and fj — 3400
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which can be written more compactly as

—I) +-l-iz+-2-i3 =0 T or l1'2-1-31'3 =15
3 3 3 3 Solving equations
KVL equation—about mesh 2 We get i»=17 A
1 — i) +2i+3(G—i3) =0 ir=11A
o i ="15"A

6i; —3iz3 =15



Find mesh currents

RE Rg RE R3
40 20} 40 20
ngﬁﬂ Ri<<60)
IC'>4A E) i 12V @ I 4A®EE_—_ 12V
E;j====20V E) == 20V

From super mesh KVL at super mesh

20V —L(6Q) —L(4Q) —L2Q)+ 12V =0

or lﬂfl + Efg =32

From relationships L— L =4

Solving we get
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I) —I=333A—4A=-0.67TA



